
MATH 54. September 2, 2016. (20 minutes, 10 points) Name:

Quiz 1

1. (5 points) Consider the augmented matrix

 1 2 −1 −1 −5 0
2 4 −1 2 −5 0
−1 −2 0 −3 0 0

. Give:

(a) the number of pivot columns for the matrix,
(b) the number of free variables for the corresponding linear system, and
(c) the solution to the corresponding linear system.

2. (5 points) Do there exist values for x1, x2, and x3 which solve the following equation?

x1

(
1
1
2

)
+ x2

(−1
1
−1

)
+ x3

(−1
5
1

)
=
(

3
1
6

)



(For fun) For some 3 × 5 matrix A, the solution set to A~x = ~0 is Span{~u,~v}, with ~u,~v ∈ R5. Do
the columns of A span R3?


